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AGA KHAN UNIVERSITY EXAMINATION BOARD
SECONDARY SCHOOL CERTIFICATE
CLASS X
ANNUAL EXAMINATIONS 2022
General Mathematics

Time: 1 hour 40 minutes Marks: 50Q(£1/
o A

INSTRUCTIONS &
Q'{(\ « O >

1. Read each question carefull
2. Answer the question@?separate answerS@ provided. DO NOT write your answers on the
question paper.

3. There are 10®ewer numbers on the a&e’r sheet. Use answer numbers 1 to 50 only.

4. In each qéuon, there are four dqojges A, B, C, D. Choose ONE. On the answer grid, black
out th@gc e for your choice wtta pencil as shown below.
AN ‘e

Correct Way Incorrect Ways Candidate’s Signature

1O ®eEE
20I0] =10,
s OE®E
«t®EOO

5. If you want to change your answer, ERASE the first answer completely with a rubber, before
blacking out a new circle.

6. DO NOT write anything in the answer grid. The computer only records what is in the circles.

7. The marks obtained on the 50 MCQs will be equated to the total marks of 75 for the theory
examination results.

8. You may use a simple calculator if you wish.
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1. The price of an iPad is Rs 50,000. Amina bought it on a certain down payment. She paid the
remaining amount in 9 equal monthly instalments of Rs 4,000. The percentage of the total
amount that she paid as down payment is

A 8%.

B. 14%.
C. 28%.
D. 72%.

2. Aman’s monthly expenditure break up is shown in the given table.
&

Education and Health Monthly Utilities
(Rs) Other Expenses (Rs) (Rs)
25,000 20,000 V5,000 *
-~ L

If his net monthly saving is Rs 50,000, then the mont

O

A. Rs 50,000

h@com is

B.  Rs 70,000 \\ q
C.  Rs100,000 (b' Q
D.  Rs 120,000 .

3. Alia took a loan of Rs 10,000 at Ie |nter
amount of Rs 12,000 in 2.5 y the gn@ uati

A 055 <
B. 067 Qj~

C. 667 A%
D 800 N B

t rate of ¢,%

N\

r'year. She paid back a total

o?b' value of cis

4. On a certain %e conversion rat%Rs 100 into other currencies is given in the table.
US$ Chinese Yuan Turkish Lira
V= os QN 392 5.07

Using the given |& ion, 50 Turkish Lira, in rupees, is equal to

A Rs 19

B. Rs 10.14
C. Rs 253.50
D. Rs 986.19

On a principal amount of Rs 25,000, 5% per annum simple interest was charged. If the loaning
period is 5 years, then the interest earned is

A Rs 1,250
B. Rs 6,250
C. Rs 12,500
D Rs 62,500
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6. Which of the following is an example of an indirect tax?
A. vehicle tax
B. Income tax
C. Property tax
D. General sales tax

7. Akram’s monthly taxable income is Rs 350,000. If he pays a monthly tax of Rs 50,000, then
the tax rate is

A 10.28%. (1;1/

B. 12.67%.

C. 14.28%. (19

D. 16.67%.

8. The given table shows the rate per unit of electricit@rges for different s s.ﬁ
AN ~N\

0 - 100 units 101 - 200 units 201 - 500 units 501 and more units

Rs 2.6/ unit Rs 3.6/ ury\'\ Rs 6.1/ unlt% Rs 7.4/ unit

The electricity consumption of Jagai ouse is 350 unitg i ertain month. The electricity
charges he pays for this month is QK

A Rs 910 &
& N

B Rs 1,260

C.  Rs1535 C b <
D. Rs1,632 \,
9. A man wmﬁs\;n a company and ear%%o per hour for 8 hours a day. He earns Rs 300 per
r

hour for dditional hour of worke=On a particular day, his total income was Rs 3,200.
How @'k}l he work on tha@?

010 hours. * Q
v@ N

B. 10ho()

18P

10. Karima’s monthly salary is Rs 75,000, which is expected to increase by 15%. Her new salary

will be

A Rs 11,250
B. Rs 63,750
C Rs 86,250
D Rs 87,750

PLEASE TURN OVER THE PAGE
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11.  The given histogram shows the scores (in percentage) of students in a class.

25

20

)

15 ‘

Frequency

10

P 4
20 40 60 \ 80 L&
Scores in pergé’tgage Q
The number of students who scored, abowe 40% is Q

A Q 3
o0

B. 20 (b' \0

C. 32

D. 43 th v/
12.  The pie chart sh@w the percentages of stu%s’ liking of different subjects in a class.

>
N O

&

Mathematics
20%

Biology
10%

If 8 students like mathematics, then the total number of students in the class is

A 20
B. 32
C. 40
D. 100
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Use the given frequency distribution to answer Q.13 and Q.14.

13.

14.

15.

16.

?-‘ Number of Mﬁ@n\ 4 11 16 10 9

The given table shows the age group of staff working in a certain company.

Age (in Years) 26-30 | 31-35 | 36-40 | 41-45 | 46-50
Number of Employees 6 15 22 7 4

The number of staff below or equal to 40 years of age is

A 15 (19/
B. 21

c. 22 Q

D. 43 (1/

The number of staff between 31 and 45 years of g@ \*

B. 22 O

C. 37

> (5.\ ®

A data consists of 5 observatjons: sum of 4 obser\@\% Is 62. If the average of the data is

16, then the fifth observation/wll be
& Q& \

A 124

B. 130 Qj:b’ \

C. 155

D.  18.0 \/

The give e shows the dlstrlbutl%the scores of a player in the first 50 matches of her

battlr% 0)

Runs Scored 15-20

21-25 | 16-30 31-35 | 36-40

Using the tabl@e cumulative frequency of the median class is

A

B 16
C. 31
D 41

PLEASE TURN OVER THE PAGE

S$2202-2821110




Page 6 of 16

17.

18.

19.

20.

21.

For the data 6, 7, 10, 11, 11, 13, 16, 18 and 25, if Z(x - >_<)2 =280, then the standard
deviation will be

A2
X—X
(Note: o2 = Z(T))
A 19
B. 56
c. 311 (1/
D. 933 q/

The highest common factor (HCF) of the polynomials (x — 2y)(1&2 —4y%is

A X—2y.
B. X+2y. 06 @\
C. (x+2y)(x—2y) . . O

D. (x+2y)(x —2y)>. \

The highest common factor (HCF) of t@womials a’, a(@’ —Qn Z_2a+1lis

*

- ¢ <O
Zgia_ _1)1) (a+1) Qj:b’@ \ 0\/®®$

The least commqnultiple (LCM) of the@;nomials (1-2y)?(1+2y) and 1-4y?is

.« §h—2)
B. ng a 2y)>; QQ

O Oow>»

>

C. 2y)(L+4y?).
?N(1+2y)(1 ay?). \Q

2 2
The simplest for ‘agexpressmn X_3y) « (x+3y)
x> +9y?  (x+3y)(x—3y)

A 1
B. x-3y
X+3y
2 2
X“ -9
C. 2 yz
X< +9y
o ((x=3y)(x+3y))’

x* —81y*

S2202-2821110
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22.  The square root of the expression 4(x —a)(x+a)(x*> —a?)is

A, *(x-a).

B. J_r(x2 —az).
C. +2(x—a).
D. +2(x% —a?).

23. If x*-6x*+aisa perfect square, then the possible value of a Wlu-i/
A. -9 (L
B -3 Q
C. 3 (1/
D. 9 *
24.  The least common multiple (LCM) of two polyn@?p(x) and q(x)j
(x+3y)(x* + 4xy + 4y?).. If their highest co n factor (HCF) is x hen their product

p(x)x q(x) will be \N
X\
> ®

A (X+2y)(x+3y). .
B. (X+2y)2(x+3y). Q & Q
C. (x+2y) (x+3y)®

; o

. (x+2y)°(x+ @o \
25.  The highest comd;tor (HCF) of theMomlals X“+6x+9 and (x +3)3is

26. E The sum 2= +6\—Qis equal to

X" =y
2y
B. 2 5
-y
4xy
C. o
-y
2(x% +y?)
D. T2
y

PLEASE TURN OVER THE PAGE
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27.

28.

29.

30.

31.

. . . X+a .
The solution of the linear equation a -1=0s

O Ow>

0

1
l1-a
2a

The solution set of the radical equation X3_1 —% =0is (121/
g V
A. =
2
4
B —
4

4

AN < .
The solution set of the radical %@ t@ - ‘ggrex 1, is
G N

LI 4
: Q{g{o’b’ O

s X O
D. {_} Q> ,\Q

D,

Iftg ee more than twic o\gumber is 5, then the number is

A -6

B. -1 &Q

C 1

D 6

The solution set of the absolute equation |[x+4 —1=0 is
A |

B. {3-5}.

c. {35}

D. {3-5}

LS S
© {?} ‘\OQ d\

S2202-2821110




Page 9 of 16

2| x-1]

32.  The solution set of the equation =4 s
A {53
B. {57}
c. {57}
D. {5-7}

33.  The solution of linear inequality 5—2x <=5 is (121/
A. x<0 (LQ

B. x>0
C. X<5 *
D. x>5 %) N\
34.  The number line that represents the statement{3)<"2 and x > 5 is @
*

D. <« : : : : e~ —>

- O 1 2 3 4 6

AN O
X+2 .

35. The solution of —1< T@
N\ .
@ X<-6 \Q\
B. X>—6 ()

PLEASE TURN OVER THE PAGE
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36.

37.

38.

39.

40.

Which of the following represent(s) quadratic equation(s)?

| 2x—1:1
X+2 X
1. 2x=1_5
X+2 4

. 2(x=2)% =2x* +3x
A | only. (1/
B. Il only. (1/
S Q
What should be added to make the expression x(x+ 2) —5 a perfect square? *
- o o)
X \\ Q
On comparison of (x—2)(x+2) — 5 ?ax +bx+c=0, \?the values of aand b
respectively are & & \Q
s im @_’0 O 2
b, dands v

One of the sol%’\of the quadratic equat%i(x —6) =-9 is 3. The other solution will be
?~. : (‘)Q

The length of a rect@e is 5 cm more than the twice of its width. If the width of the rectangle
is x cm and t%@) the rectangle is 36 cm?, then the quadratic equation that represents this
situation is

A. x? +5x—-36=0
B. x* —5x+36=0
C. 2x? +5x—-36=0
D 2x? —5x—36=0

OO w>
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?S\Q

C

A

B.
C.
D

41. If 5 is the arithmetic mean between two numbers p and g, then the relation between p and q
will be
A \pga=5
B pq=>5
C. p+q=10
D 2p+29=>5
42. If 3, 5and p are three consecutive terms of a geometric sequence,(tiien the value of p is
: Qv
A. —
3 (1/
] ﬁ
' 25
: Q2 Q&\\
C. =
; O
3
D. —
5 ) O
43.  The (n-1)"termof a geome}ric@s ence, in which the h§t term is a and common ratio is r
will be & & \
A. log \0
B. ar" @‘
C. ar" \/
. Y

ar\1

44, The ge @’erm of the seque@, 3, 8,15, ..., is represented as

2_1 . Q

) N
PN

4n-4

45, Which&&llowing sequences is an arithmetic sequence?

a,a+3,a+6,a+9,...
a,(a+1)?, (a+2)% (a+3)%...
a,a+la+3a+5,...
2a,2a+3,2a+9,...

PLEASE TURN OVER THE PAGE
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then the value of a is

A3, b) \,
Na, 4)
(>
B (-5,
&
Jog
@ C(1,0)
S
C. 4
D. 5

46. The n"term of the arithmetic sequence 2, 9, 16, 23, ...is
A. 2+7(n-1)
B. 7+2(n-1)
C. 2+7n
D. 2-17n
47.  The distance between the two points (3,—6)and (—6,3)is
A. 6 units. (1/
B. 18 units. Q
C. 32 units. (1/
D 9v/2 units. *
48.  The two points (a, 3)and (0,—3) are at an equal dlstan@kom 5,0 : Ifthe@omts lie on
a single line, then the value of a is *\O
A0 X O
B. 3 %’ . Q
c. 6 L \
49. In the given figure, A, B and C@» he \@Q@)f th%@g e ABC. If D is the midpoint of AB,

NOT TO SCALE
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50. In the given figure, A, B and C are three collinear points.

- . . NOT TO SCALE
A C B

The condition A, B and C satisfy is

A AB+BC =AC

B. AC+BC = AB
C. AB+ AC =BC (121/
D.

AB=2BC

END OF PAPER
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